3.NBT.2C Fluently add- subtract to 1000

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. Choose », ¢, or = to finish the following problem.

35+17 69 - 48
a = C. none
b. < d >

2. Choose », ¢, or = to finish the following problem.
420 + 63 518 - 79
a. = C. none
b. < d >
3. Choose », ¢, or = to finish the following problem.
716 + 509 + 9 891 +452+8
a. = C. none

b, < d >

4. Choose », ¢, or = to finish the following problem.

840 + 221 + 17 918 + 184 + 36
a. = C. none
b. < d >

5. Choose », ¢, or = to finish the following problem.

241 + 76 214 + 67
a. = C. nhone
b. < d >

6. Choose », <, or = to finish the following problem.

62 + 18 79 -24
a. = C. none
b. < d >

7. Choose », <, or = to finish the following problem.



723 +418 + 59 418 + 59 + 723
a = C. none
b. < d >

8. Choose », ¢, or = to finish the following problem.

219+ 81+ 36 342 +18+9
a. = C. none
b. < d >

9. Choose », ¢, or = to finish the following problem.
139 - 47 193 +74

C. none
d >
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a.
b.
10. Choose », <, or = to finish the following problem.

382+ 118+7 429+ 93+ 2
a. = C. nhone
b. < d >

Answer 1:
Answer 2:
Answer 3:
Answer 4:
Answer 5:
Answer 6:
Answer 7:
Answer 8:
Answer 9:
Answer 10: B
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